|CONTEMPRA & IME SERIES (ETEEE
SURFACE MOUNTDOOR |

LEFT TO RIGHT HINGE ASSEMBLY
FOR SWING LOCK APPLICATIONS

§

¢ # ®

LEFT TO RIGHT OPENING HOOR RIGHT TO LEFT OPENING DOOR
AS VIEWED EROM INSIDE OUT J

M HAMMOND

.WENGLDSUREE

Page 1 of 4




STEPNO.1

/

A)  REMOVE 6 SCREWS AND 2 WASHERS
AS INDICATED BELOW

B) .REMOVE 2 LOCK COVERS AND GAS-
KETS

SCREW & WASHER .
[iid

GASKET |, |
rockcover IR |\,
SCREW T

-4
L4

RIGHT TO LEFT OPENING DOOR

AS VIEWED FROM INSIDE QUT

A)
B)

STEP NO. 2

REMOVE FRONT LOCK ASSEMBLY FROM DOOR PANEL
REMOVE GEAR RACK AS SHOWN.

\‘x_ GEARRACK 2 p 10

STEPNO.3

A}  REMOVE DUST COVER AND THE TWO FILLER
PLUGS AS SHOWN.

B}  NOTE: BOTH COVER AND PLUGS ARE MOUNTED
IN SLOTS AND MUST BE REMOVED IN DIRECTION
SHOWN.

{d

"l

T
v

T DUST COVER

2

o~ mwerpwes CLUGE

Togl Box

#2 Phillips Head
Screw Driver

10mm Socket
Wrench or Dhiver

e

STEP NO. 4
Ay REMOVE KEP NUTS 4 PLAGES AS
SHOWN BELOW
B}  REMOVE THE LOCK ROD, MODIFIED
NOSE PIECE AND LOCK ROD GUIDE
AS A COMPLETE UNIT.
C}  TOREMOVE MODIFIED NOSEPIECE, ~

KINK LOCK ROD AND NOSE PIECE TO 5
AN APPROX, 45 DEG, ANGLE AND i
PULL APART. i o~
H
i
A :: i-}‘
L]
i
® I
-
& EE
MODIFIED NOSE PIECE » .72~ .

P
LOCK ROD GUIDE T-5¥"
*
LOCK ROD )
o i
L keenuts TS

(
M
H HAMMOND

ENCLOSURES

Page 2 of 4




STEP NO, 5

TO REINSTALL MODIFIED NOSE
PIECE, KINK LOCK ROD AND
NOSE PiECE TO AN APPROX,
.45 DEG. ANGLE AND INSERT
SQUARE HEAD OF PIN INTO
LOCK ROD TWO PLACES AND
PULL
ASSEMBLY STRAIGHT TO
LOCK NOSE PIECE N PLACE.
ALIGN LOCK ROD GUIDES
WITH STUDS ON BOOR PANEL
AND NOSE PIECE WITH SLOT
IN DOOR.
INSTALL AND SECUREWITH |
KEP NUTS 4 PLACES. DO NOT
TIGHTEN UNTIL AFTER ALIGN-
MENT IN DOOR MOUNTING HAS
BEEN DONE.
NOTE; TONGUE ON NOSE
PIECE ALWAYS MOUNTED
ABOVE ROLLER TO TOP OF
DOOR PANEL,

A}

B}

Gj

D)

E)

A)
B)

BUL10138

STEPNO.5 -
INSTALL DUST COVER AND THE TWO FILLER PLUGS AS SHOWN,
NOTE: BOTH COVER AND PLUGS ARE MOUNTED IN SLOTS AND
MUST BE INSTALLED IN DIRECTION SHOWN.

DUST COVER ;R —

S
4
7
/
I'd
I
Pl
F
;
/
i

;:/

I p
. TONGUE " /s
ROLLER2— .-~ § 5
5
< /‘J
. Va
7
yd
~ V4
B FILLER PLUGS JGS \\\
™,
Y MODIFIED NOSE PIECE )SE PIROGE =
! "y, tockrop D
KEP NUTS A N -
8- — LOCKRODGUIDE (XJIDE
STEB NG, T STEPNO. 8
A} MOUNT FRONT LOCK ASSEMBLY INTO DOOR PANEL, THEN WITH HANDLE IN A} INSTALL 2 LOCK COVERS AND GASKETS.
LOCKED POSITION INSTALL RACK GEAR TIGHT TO TOP OF HANDLE DUST B)  INSTALL 6 SCREWS AND 2 WASHERS AS
COVER. . INDICATED BELOW.
B}  NOTE: THE TONGUE OF MODIFIED NOSE PIECE IS TO BE INSERTED INTO
GROOVE ON GEAR RACK. SEE BELOW.
SCREW & WASHER B
;- HER
~  GASKET
/GEAR RACK LOCKCOVER &
/ ~ SCREW ]
/ J
|/ ~
o ~
.
®
RIGHT TO LEFT OPENING DOOR
AS VIEWED FROM INSIGE QUT

#2 Phillips Head

+ J Tool Box ;
Screw Driver

10mm Socket
Wrench or Driver { ~{*

o,

MM HAMMOND

: WENCLDSURES




e 23.000 OR 28.000 P

M6 FLAT HEAD SCREW
AND KEPS NUT SCREW- "™

M6 FLAT HEAD SCREW ~

/7 AND SEALING PLATE

LOCK ROD

ROLLER GIHDE l— 625

HINGE SIDE HINGE PIN

0.118 —» ret— 0,067

DOOR LOGK HANDLE —'

REMOUNTING DOOR INSTRUCTIONS

A) REMOVE DOOR BY PULLING QUT THE HINGE PINS { 3 PLACES ) NOTE: DOOR PANELS
ARE SYMMETRICAL AND THE DOCR MOUNTING HARDWARE IS ALSQ SYMMETRICAL
EXCEPT FOR AS NOTED,

B) REMOCVE HINGE FROM RACK THREE PLACES AND ALSO REMOVE LOCK ROD ROLLER
GUIDES 3 PLACES.

C) WITH DOOR PANEL OFF, PROCEED WITH LOCK ASSOCIATED HARDWARE CHANGES
AS NOTED IN STEPS 1 THRU 8.

D} REMOUNT DOOR HINGE HARDWARE IN SAME MANNER AS WAS REMOVED WITH BAR-
REL OF HINGE QRIENTED TOWARDS OUTSIDE OF RACK SURFACE. NOTE: THE SEAL-
ING PLATE MUST REMAIN WITH INSTALLATION OF HINGE TO MAINTAIN THE NEMA 12
RATING.

E) DOOR HINGE TO BE TIGHTENED IN PLACE USING THE M6 FLAT HEAD SCREWS AND
SEALING PLATE MAINTAINING A DIMENSION OF 3/8” FROM INSIDE FRAME VERTICAL
POST AS INDICATED ABCVE. TYPICAL 3 PLACES.

F}  REMOUNT LOCK ROD ROLLER GUIDES USING THE M8 FLAT HEAD SCREWS AND THE
M6 KEPS NUTS. DO NOT TIGHTEN THE ROLLER GUIDE IN PLACE AT THIS POINT. TEM-
PORARILY MOUNT IN PLACE &/8” IN FROM THE QUTSIDE EDGE OF THE VERTICAL
POST TO THE WIDE SIDE OF THE ROLLER GUIDE BASE.

G) REMOUNT DOOR USING HINGE PINS TQ SECURE IN PLACE. CAREFULLY SWING DOOR
TOWARDS LOCKED POSITION. CHECK AT THIS POINT FOR LOCK ROD TO ROLLER
GUIDE OR BY MOVING LOCK ROD GUIDE THAT IS MOUNTED TO DOOR PANEL 4
PLACES. THE LOCK ROD SHOULD ENGAGE WITHOUT ANY INTERFERENCE, WHEN
THIS HAS BEEN ACHIEVED, TIGHTEN IN PLACE BOTH THE LOCK ROD GUIDES ( 4
PLACES ) AND THE LOCK ROD ROLLER GUIDES ( 3 PLACES }.

Hy  NOTE: THE DOQR LOCK HANDLE ALWAYS SWINGS FROM THE LOCKED POSITION TO-
WARDS THE HINGE SIDE OF DOOR FOR THE OPEN POSITION.

Tool Box 144 Slot Head #2 Phitlips Head Tape 10 mm Socket
Screw Driver Screw Driver Measure Wrench or Driver

2 25 S| MHAMMOND

WY EnclLosures

. Page 4 of 4 .




